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1. e ® ygad 9 8 :

» b) &M ) W a) Smama
). PoRRadeRw T e s ?
5 fe7 31T @A b) Gﬂﬂ%ﬂaw ¢) \’rﬂqmﬁaq yﬂ'{[ﬁmm

3. QAR - W H GHY IR |

o) ST T b) ALY HHN c) ﬁmm d) dgdife gar
4 oo TET UL B AR 2

_o) PARYETE® I b) RfEES T o) SNEEEamy ) WaaraE A
5. ffeia & & o ot vafard) wes e @ 2

a) AT b) BRI sy favray d) famem
6. T FHHIATEIRIE?

o ot b) gt ¢) @ d) o
7. e 716 R-RRT F § 2

a) Q41+ T4 b) G +3d &y 44 + g7 d §+aa
§. S E Rau e

a) faamer b gl c) SRTen d) O
9. TRaus T FRig?

Lo HOAUSaaMT  b) 3BT THD ¢) HF UgTHl d) THAEH
10. FeEqd I FIYEFUe:

2) U@ b) I < T RECT

11. Convert the following sentence to passive voice :
He will never forget it.
) It will never be forgotten by him. c) It should never be forgotten by him.
b) It can never be forgotten by him. d) It may never be forgotten by him.
Directions (Q. No. 12-13) : Choose the exact meaning of the underlined idig_@ti_c expressions / phrases :
12.  To cast pearls before a swine.

a) to spend recklessly

b) to spend a lot of money on the upkeep of domestic hogs
) to waste money over trifles i

d) to offer to a person a thing which he cannot appreciate

13.  We should give a wide berth to bad characters. : :
a) keep away from b) publicly condemn ¢) give publicityto  d) not sympathise with

14. A sentence has been given in Direct speech. Oyt of the four alternatives given, select the one which best
expresses the same sentence in Indirect speech.

Mohan said to his friend, “Let me 80 home now”.

_#) Mohan requested his friend let him, 20 home then.
b) Mohan requested his friend that the yy; ght be allowed to go home then.
¢) Mohan requested this friend to 20 home. : '
d) Mohan told his friend to go him home.
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Rearrange the parts of the sentence o
correct sentence. C€ Ziven bejgy, which are labelled (P), (Q), (R), and (S) to produce the

The hourglass is

two triangles (P) / in size (Q) / which : P

The proper sequence should be : are equa| (R) / made of (S). SPR
PRQS

a) PRQ by SPRQ ») SPOR S

‘hoose the word which is nez i : : :
Ch . nearest in Meaning tq the underlined part in the sentence given below.
A great statesman 1s actuated by love of his ¢
g 118 Country.

8) compelled byinduced c) impelled d) persuaded
Fill in the blank in the following sentence with the most appropriate word.

Several of our players were injured, so oy losing the match was almost

a) necessary b) indispensable ¢} inevitable d) inexcusable
Choose the right option which has words relateq in a similar way.

PREAMBLE : STATUTE : :

ﬁ' prologue : novel b) movement : sympathy ¢) sketch : drawing &7 index : book
Identify the wrongly spelt word :
a) accommodation b) omnipresent Q;»tyrannical d) contemporanous

Identify the part (marked a, b, ¢ or d) containing an error.
Ravi agreed with all my conditions.

@ () 4J ()

For any positive integer n,n® —n is :

"a) divisible by 8 b) divisibleby 11 c¢) divisible by 7 d) divisible by 6
fepeft e TeTe QUIfeh n & oI, n*-n B :
a) 8 9 fgursg b) 119 faurs ¢) 79 faursa d) 69 Ay

If one of the roots of 4x? - 3x + k is 1, then the value of kis :

q%4x2-3x+k"dﬂ@1ﬁ1%;?ﬁ“kmm%:

a) 2 b) —1 c) =1/2 d) —1/4

Graphically, the pair of equations 6x — 3y + 10 < 0.and 2x —y + 9 = 0 represents two lines which are :
. - r 3 ) . -

a) parallel ¢) coincident

b) intersecting at exactly two points d) intersecting at exactly one point

ST 0 &, RO T g 6x - 3y + 10= 0 3 2x -y + 9 = 0 Y Yl 1 WA el & S
il
2 SR b) A 3 el WIRWE T o) WUl ) Sl T g R wferde el

Which constant must be added and subtracted 10 solve the quadratic equation 9x + (3/4)x — V2 =0 by
the method of completing the square ? ] — ¢

o o e AR e e R 9% (4 = 2 = 0 1 5 ) 35 R e R e
3R HeTT ST =Ry 2

a) 1/8 b) 1/64 ¢) 1a d) 9/64

Two APs have the same common difference. i first term of one of these is equal to -1 and that of the
other is —8 Then the difference between theit &~ (erms is ¢ __ e

i i) =8 %

) -9
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ides AB ‘
points O the sides S A0d AC of triangle ABC such that AD = 2 ¢cm, BD

D and E are respectively the Then, length ®FDE (in ¢y .

—3 ¢m. BC = 7.5 cm and DE || BC. ;

; g3 AL D G?R E : : . %
e N
7.5 DE || BC dl, P& ' ;
2) 2.5 b) 3 H3 d) 6 o5 ;

e he line segment jOiNINg points A4, 2) and B(8, 4), then :

the p R AR :

afz g re. D, M AG. 2) R B, 4) P VS X R 2,

2 AP=(1/3)AB b) AP =PB 9 PB=(13)AB  d) AP=(1/2)AB

(#<in 0+ cos 0= V3, then tan 0 + cot 8 is equal to:

gfe sin® +cos b= V3 % 'Eﬁ tan 6 4 cot llW% g
a) 1 b) 0 ¢) 2V3 & 113

b . ks [ 2 - - L :
An observer 1.5 m tall is 20.5 m away from a ©OWer 22 m high. The angle of elevation of the top of the

(2, 1) lieson t

tower from the eye of the observer is :

1.5 e ST U e 22 Hiex F TR ¥ 20.5 Hex Bt gt R 2| uefders &t sitm A HHR B

FITAGT DG ;
a) 30° b) 60° c) 45° d) 15°

If a, b, ¢ are the sides of a right triangle where ¢ is the hypotenuse, then the radius, r of the circle which
touches the sides of the triangle is given by, I =

Tf &, b, o TP FHPI FYS 3T 4S &, 61 ¢ FU S, 1 30 1 By, « St e ot il a1 e et
¢ e ,

a) (a+b+c)2 b) (a-b-c)2 ¢) (a+b+c)3 d) (a+b-c)2

A cow 1s tied with a rope of length 14 m at the corner of a rectangular field of dimensions
20 m * 16 m. The area of the field in which the cow can graze is :

TS T B 20 m x 16 m [FH730 10 U6 SMMAPR B P S W ' |
bl S o 14 m Ge! & A FiUTTIR | MY R

a) 144 cm’ b) 169 cm® ¢) 77 cm? d) 154 cm?

To draw a pair Oftaﬂgﬁﬂts to a circle which are inclined to each other at angle x°, it is required to draw
tangents at the end points of those two radij of the circle, the angle between which is :

U 9 T W @1l 1 U 7 9 & R o) e PR B 3 3 s
%mmﬁwmwmmﬁ,ﬁﬁ{m%: bR

:):1:;-_ . b) 90° + x° c) 180°-x° d) 180°+x°

iCine-capsule is |

i (;:e I{:;s:le 1}51 i the shape of 3 cylinder of diameter 0.5 cm with two hemispheres stuck to each
: ngth of entire capsule js 2 cm. The capacity of the capsule is :

wﬁkgﬁojﬁﬁ%ﬁﬁméwmm%mmmmamaﬁaﬁqy

a) 0.36 cm’ ; ' '
b) 0.35 emy? ¢) 0.34 em® d) 033 cmt’

The algebraic sum of Ao
i e of the d;:wat:ons of a frequepcy distribution from its mean is always :
) Bitater than ze,, ¢) non-zeronumber  d) less than zero

fo e aRaRa &

AR L, L NG S
A girl calculates that the prc):b?% LS| ¢) TR-I T d) EADH

sold, how many tickets hag shz ;g‘?gﬁtf?er Winning the first prize in a lottery is 0.08.1f 6000 tickets are
Ueh TSP TTUH] e S X e

&, dl 39 ﬁﬁﬁﬁmﬁa %'. - ,fl %ﬂ%mmgﬁaﬁﬁmﬁmoos 21 3f% 6000 R FA

A §52N

PSP
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A student adds barium hydroxig
St
opuon divies. theBalauced Chcmlcd10 hydr, Fochlgric acid to form a white-colored barium chloride. Which

szﬁwmﬁm e tlonoitherucnon : I
alﬁqmﬁmmm@mﬁ@m%mm@WMﬁm
2) HCl + Ba(OH): — BaCly + 23,0y | VOIS gAieredl Gcl & 2

b) 2HCI + Ba(OH); — BaCl, + 21 ¢) ZHCI + Ba(OH); = Bat,  2HCI + O,
& 2+ 2H,0 d) HCl + 2Ba(OH) — 2BaCl; + 2HOH + 0O,

Which of the following salts does NOT contain Water of Crystallization ?

a) Blue Vitriol b) Baking Sq Y

da Washing Soda ¢y Gypsum
Pofifea & 9 fou 96 | ﬁ?ﬁ%ﬁmmm%m% 2
a) s fafcaa b) T ey iR et d) fomam
Food Cans are coated with tin and not With zine hecause zine is/has :
a) costlier than tinX : \Mﬁ] gher melting point than tin
b) more reactive than timyg” d) less reactive than timp(
T & el | e 9 S 1 ot & = 6 Ry . itfd Ri
a) RAIWEMR o) 1A ¥ 3ifie e 8
by 9 e sfvfareia @ d)ﬁq:ﬁwaﬁrﬁmmﬂa%

Which of the following belongs to a homologoys series of alkynes ?

Frafatad 3 8 DI TP (alkynes) B Tep gHGIT (homologous) g o HalREA § 2
CsHs, C2Hs, C2Ha, C3Ha

a) CeHs b) C:Hg c) CzHa d) C3Hs
Which of the following elements has 2 shells and both are completely filled ?
) Helium b) Neon @ Calcium d) Boron

ﬁuﬁf@ﬁﬁ‘ﬁmac—dﬁiﬁaﬁmshens)%aﬁvaﬁ #tf‘g'l!%"
a) BifcrgH b) A= %ﬂﬂ IR

What are the products obtained by anaerobic respiration in plants ?

a) Lactic acid + Energy ! ¢) Ethanol + Carbon dioxide + Energy
b) Carbon dioxide + Water + Energy d) Pyruvate
el 7 Sfaraei 4 R T ITE € ? . .
2) Afded RIS + o ¢) FAT + PTo SIFAHHIZS + FHeil
b) PTET SRATHIES + T + ol d) UIgEdE
The gap between two neurons is called a(n) :

) Axon b) Dendrite . ©)_Impulse d) Synapse
Eﬁ @ SR ®T(neurons) F HH T A B :
a) A b) YT c) ST d) R
AIDS is a deadly disease which is caused by 3
a) protozoan b) fungus ¢) bacterium & virus

@(Amsmaimfm%jﬂﬁaﬂ?wﬁﬂ%:
2) WIS b) P ¢) SifaTgg d) IR

From the list given below, select the character which can be atquu‘ed but not inherited :

a) colour of eyes b) colour of skin ¢) texture of hair -d] size of body
aﬂ%’rz.f’rrr&qaﬂﬁmgm(chmcter)ﬁrwﬁm%ﬁfmmm% ﬁﬁﬂmmaﬁqﬁﬁam%
a) 3G H1IT b) a1 ¥ ) SIS B GG (texture)  f TR BT SBR

A concave lens has focal length of. 15 cm. At what d1?_Lance should the object from the lens be Pmdwk
he lens? Also, find the magnification produced by the lens.”

that it forms an image at 10 cm from t TR
U gl o &1 BIpd g 15 ﬁ%ﬁmmma%?maMWWﬁﬁ 10

It @1 o W e wiafer §E |
a) 30 cgﬂ +0. 3§$ b) 33 cm; +030 £-30¢m;-033 d) 40 cm; - 0.33

Saan - T
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52,

&

e of an object formed 9

In which part of the human eye is the i _
a) iris : b) pupil : # I"Etm%a d) cornea
Ua sfg s arer v A fordl % i o W 5

a) SRy b) .
¢ a rate of 840 W when heating is at the maximum rate. The voltage

e e a :
An electric iron consumes energy ¢ he resistanc® ?

is 220 V. What are the current and t
> Rigg i) 840 w A aX 8 ol 1 9 P & T T 3 ox B 21 et 220 v
21 Fie IRyl | § 2

a) 3.82 A;134.15Q b) 5.02 A; 57.652 C) 3.82A:576 Q d) 1.64 A; 134.15Q
Appliances that have a metal body are generally COnnectcd- to the earthing wire, The reason for this is to -
€) provide extra current to appliance

a) prevent excess of current . ‘ . .
d) provide high resistance to the appliance

b) prevent the leakage of current

forT Sueon & 41g 1 &St (metal body) gl & 3 3my ik gy 3t T(carthing) TR A I3 B3 &1 35T
BRUE :

a) e P oifiwar ) A6 & R ¢) SR I 3ffafRed dbie gam w3 F fag
b) FYC F Ru@ F AP F e d) SUBI B I HfaR1Y U H & fou
Kitchen wastes can be hygienically disposed off thr_ough :

a) Dun_lping _b¥ Composting ¢) Incineration d) Recycling
T&h&‘%aﬁ%aﬁw%%mmﬂ'ﬁmmw% ?

a) SIUTTERT b) PERTERT  ¢) YR gRI d) e gry

Which of the following statements is FALSE.

a) An electric motor converts electrical energy into mechanical energy.

b) An electric generator works on the principle of electromagnetic induction.

¢) The magnetic field at the centre of a long circular coil carrying current will be parallel straight lines.
/dj A wire with a green insulation is usually the live wire of an electric supply.

fEewEidds ormea e |

@) U% faqgd Aiex Aife il o fagqd ol & aftafia st 2
e ey

c YRT ara ' U &l
d) @w%aﬁmwmmmﬁmﬁaﬁ&mﬁmaﬁamé\m%l T

Infant Mortality Rate indicates the number of children that die before the age of as a
proportion of 100 live children born in that particular year.

a) four years ) one year ¢) two years d) three years

RISy 92X 39 fardry anf 3 iy '
mﬁmﬁmﬁmmg 100 ifdq st & ST & EG & Pl 1Y Q Ugd 7A
a) IR T b) U Wi ¢) I 9Td d) 9@

Which of the following is an €xample of ¢ollateral ?
3 L‘ D

a) Livestocks b) Land o) Deposits wil ERRESERRSLIR e

a) U e (COllateral) 1 g5 FareRor @ 7

Which of the fol] MR ¢) SPT b U STHIYS o) Jwnh

0 inera
its per ca:m: is:)'ﬂg 18 NOT a factor f,, determining the development of a country ?
ome = , :

5/115 average litergcy level ;ry?;a;?pitlztgz of ﬁ _ peoplg

a) m%&gwh*'%mmﬁmm%@qﬁg? .

b) SHBT ST IERT 7 3 g‘; A

P-I
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54, The most common route for imcstme
a) set up new factories nts by MNCs in countries around the world is to
b) buy existing local companies ey form partnerships with local companies

R P o= A aﬁ?@“mﬁ > d) none of these
ﬂmaﬂﬂﬁm B P 3 forg ard ST AR R

vy T S SU B ade 'ﬁ?ﬁﬁ%%ﬁj&%WuWW

55.  Which of the following states in India ep; d-) ,
' ; A enjoys a special status ?

s o) el A Nagaland d) Uttara Khand

vl & e 7 5 5 #) Rt as g 2 7

a) TSl T b) B Wﬂ e 5 .
56. Accountability to the citizens is the most basic gytcome of

8) Theoctacy b) Autocracy ey Democracy d) Socialism

a) YHdH (Theocracy) b) dHTRITS! o) diepda 4 TSR
57. g olnsider the following two statements on power sharing and select the answer using the codes given

elow :

P. Power sharing is good for democracy.
Q. It helps to reduce the possibility of conflict between social groups.

a) P is right but Q is wrong ¢) Both P and Q are wrong
P Both P and Q are right d) P is wrong but Q is right

T 3 g W PufifEd & SuEl R R i 3R 92 fRu U ge 1 T R IR AT :

p T &1 GEER b & o 3 gl
B.ﬂ%ﬁmﬁaimﬁfﬂsaﬁamaﬂwﬂﬁwmﬁmm%l

2) PHE 2 Qf Q T € ¢) P 3R Q &I Terd &
b) P 3R Q Al TEl © d) P TS & QIfhT Q WAl ©
58.  The state of Rajasthan is very well endowed with solar and energy but lacks in water resources.
a) Geothermal b) Hydro ) Wind d) Tidal
SR T TR 3R i 3y T T O % QW § Qe o T B € |
a) Y-ardig b) Sl ¢) Uad d) SARIY (Tidal)

29 The freshwater is mainly obtained from surface runoff and groundwater that is continually being
renewed and recharged through the : -
Vaf sulphur cycle, b§\rock cycle L‘-’3./1"154'(1{0logical cycle ,ﬁone of these
A U B geT Y § Hae! $9aTe 31 T & T v STt & o) TR Al (renewed) SR
a) GeBR h ° by e a9 o) TREENEA TR T d) T U PIS Tl

60. In which one of the following states is 1€rTace cultivation practiced ?

~f) Punjab b) Plains of Uttar-Pradesh ¢) Haryana d) Uttarakhand
ﬁaﬁ-ﬂiﬁaﬁ%ﬁmmﬂmmﬁﬂﬁwﬁ%?
a) UGS b) aﬁ:{-ﬂ%ﬂ*m ) Bhamn d) ITES
61.  Which one of the following type of resouree is Qn ore r’ :
a) Renewable XBiotic 7 Non-renewable d) None of these:
e S R TP BT T € R b
a) T b) SIfa® ¢) 3fFdiehRur d) TR A B A

E & A



¢ £rou s o = flaoe
By which vision, the people of the WOT id ar Ped as distinct nations identified through their flags |

and national costume. : =%
a) Absolutist b) Plebiscite R uffrage d) Utopian |
ﬁ?ﬂmﬁﬁ,gﬁmﬁﬁﬁ%ﬁﬁa”aig@ :'glq“m@%mmﬁmﬁaﬁaﬁ%ﬁmﬂﬁ |
S Fudaggipaearaael |
FAHd 998 €)
2 FRFIAE W + 3 TR d) geifadr |
63. Which of the following gave unbridled powers "% g0Vermnment o arrest and imprison suspects, without
trail ? A
pitts India Act OVL. of India Act. 1858
;; C’harter Act of 1853 4 The Rowlatt Act, 1919 ®
Frafefa & @ e PR Pl 5 H TPEH & Wi 3t figaam o ok e et A1 FREY |
ifeal v # ? : = by
2 ReadRmuEm  b) B3BAREE o HRA WMPR gy, 1858 d) Acie T, 1919
64.  Which of the following statements are TRUE about Satyagraha ?
A
Va‘ﬂ Satyagraha is not a physical force ¢ A satyagrahi does not inflict pain on the adversary
b) It is the weapon of the weak. 4 Option (a) and (c)
e PR A PERfEd A AP AU IAE?
) HAIE BIS AR fekt el & ¢) Gt faRieh ) gt 7 ey
b) T FHEIR] 1 BIUUR B d) faFeg @) 3R o)
65. In the mid-sixteenth century, the printing press first came to
a) Goa aﬂndhra Pradesh ¢) Kerala & West Bengal
Sicrgd] Trareg) & Aed |, e 0 ugell aR o 3t oft | :
a) T b) 3%l Hew ¢) Hd d) ufEm e
66. What was the position secured by India in the Asia Cup hockey tournament 2022 ?
a) First b) Second ¢) Third -4y Fourth
TR &9 glet gAtHe 2022 F YRT A FH 91 RH g1 fFar 2
a) UgE b) TEI ¢) d\w d) e
67.  Achinta Sheuli, who clinched gold medal for India in the Commonwealth Games 2022, is associated
with which sport ?
a) Weight lifting 7 Boxing ¢) Table Tennis d) Lawn Bowls
TEHST Bl 2022 7 4RE F R w0l v e arelt i et v @ S 9t 82
a) MRIGIeH b) Sife ¢) oud e d) a3
68.  The main constituents of L P.G. are :
a) Hexane and Ethane b) Butane and Propane ¢) Ethane and Pentane ﬂf Ethane andMethane
TS & T ves 3 -

D TR b PR o AR @ PHRE
69. Which of the following is used as a food preseryative 7 R
a) Potassium Nitrate  b) Salts of soph acid ¢) Sodium benzoate _dy All of these

) FEREETRT  b) WR ors @ b

70.  Which among the following is NOT corre

'—‘_'b-

_a¥ 1929 : Bhagat Singh ctly matched *

< Bhagat Singh Threw Bopm, e
b) 1930 : Simon Commission firg; ﬁm:tcCentml Assembly Hot
¢) 1931 : Second Round table Conferen ame to India
d) All are correct ‘ oY

-

S

P-| R T
- Hingi ey
- _-..5‘!'-_ ; Ndi Set-D =X




ﬁgﬁf@ﬁﬁ@ﬁﬂw‘s‘}wqﬁ%?

a) 1929:%%{5’9{%&% popns
b) 1930 : TZHA HHYH Ygeht Wmﬁﬁm ;; %g%?mm

71, Whatwas the theme of Punjabs tableggige o Republic Day Parade 2022 at New Delhi ?
a) Jallianwala Bagh Massacre e:p‘ Sangat and Pangat
b) Martyrcllom c:lf Guru Teg Bahadyy I ;)} Conlzribuli()ll in Freedom Struggle
7 feeell & morci ey wes 2022 YT ) ey 7 F0 0 12
a) STTCATATE 17 §AIHTS o T AR GTE
b) % A1 TETGR St P ETed " e S A ATe
72.  Which country has the most powerful passport in the world, as per Henley Passport Index 2022 2
a) France br'usa ¢) Japan d) Australia
B0 TRUIE S8 2022 & SR G apy ey el UIRTGNE o 21 1 2
a) T8 b) YTHT. ¢) ST d) Sifemm
73.  Who was the first Indian actress to receive the padma Shri award ?
a) Madhuri Dixit A7 Nargis Dutt ¢) Bhanumathi Ramakrishna d) Meena Kumari
137 4 RRBR U B aTetl gt UReltg aftyft 3 o 2
a) TG e b) TRAH &7 o) HAERITHEEN  d) HFE
74. R.K. Narayan created the virtual region known as :
a) Malgudi o) Wessex ¢) Waverly d) Lake District
3R 3. ARV A MU & %1 Fmiv e, R Feremars -
a) TTEHIST b) dHR ¢) adl d) oo fefae
75. How many members of Lok Sabha and Rajya Sabha are elected from Chandigarh ?
THT 3R TS0 THT & P Ge dere g od @ ?
0,1 1,0 Ly 1.2 d) 0,2
76.  Which Indian state was the host of the FIFA U-17 Women’s World Cup in 2022 ?
a) Karnataka _ ) Haryana ¢) Odisha d)~-Madhya Pradesh
I 3SR -17 AfRe f3% B, 2022 PT HSEH YR B DI F1 T UT 2
a) ®icH b) RO o) Sfifgm d) WU
77.  Which institution launched the guidelines to identify mental health in school going children ?
a) NITI Aayog \by Union Health Ministry ¢) NCERT d) National Testing Agency
T S AT el B W R @) UE B3 5 R R s 3 femnfie o 16 2
a) A ST b) DT WA HACH o) TMERA a) T aieorToRi
78.  What was the theme of the ‘International Day of Peace’ 2022 2
a) End racism; Build peace ¢) Equality and Inclusivity
b) Anti-casteism for Peace ~47 Humans for Peace
SeRTPTg wifey faawr 2022 o faa &1 41 2
2) TEIATE THTG Y, i 1 o z) THIAT 3R FHTEfRT
b) ifdl & fory wiferare: faiel ) it 3 ferg e
79.  Which airport has been named after Indian freedom fighter Bhagat Singh ? :
= ) % (4 \ : LY 5 . -
~74) Chandigarh International Airport d)) goa I“tem&hﬁnalAmrt __ T
b) Jaipur International Airport Tmagar International Airport e
Rl e ST e R 3 AR RPN € i) ;
2) g S EAS UG d) R 3
b) AR SfeRfgia g ST : '




80. Who is the winner of the Dadasahel ‘ .
a) Rajinikanth b) Kamal Hassan aﬁ:{% Asha Parekh A "Nawazuddin Siddiqui
C ¢ .}

Hﬁznzuﬂsmmwﬁiwﬁ“ )
a) Wilsig b) HHA U ] i d) TEEH Rglep]

81. Chooqcrhccuncctuhcnuun@thurwﬂlcﬂ"“”utlhcsu"“5pﬁﬂcn1andrcphccthcqucsnonrnarkinlhc
given series,

'&O ue! fawe g+ ot Waﬁaﬁaﬁiﬁmma”@mﬁwﬁaﬁm Gal
BE 24,60, 120,210, _
2@. a) 300 b) 336 ¢) 420 d) 525

82. An alphabet series is given with missing terms as shown by (?). Choose the missing terms out of the
given alternatives. :
e qufTe sigen <t 7 & R g U& 8, S 1 (2) g i man 21 Ry o et @ e v
&1 g | C_@

Yool B K B X

a) G, H b) PG ¢) R,G d) S,R

83.  Lion is related to Prow! in the same way as Bear is related to :
a) Frisk b) Lumber - ¢) Stride _dy Bound
o ypR Rig &1 g W (Prowl) ¥ 8, SU UPR U HT 4G ¢ ;
a) Th 9 b) TR Y d) 988 9

84. In a certain code, FIRE is written as QH E as ZMWE. Following the same ruhiof coding,
wMHMWNﬂMm&hHMmMOWR?,Vb%» ﬁﬁ thio
U% {390 $1S H, FIRE &1 QHOE 3R MOVE $ ZMWE & U T ferar oiar 8| HIfEn & 3@t Rgmg &1
UTd- $3d §Y, OVER ¥eg & U &1 a1 @ e 2
a) MWED ) MWEO ¢) MWOE d) MWZO

85.  Pointing to a gentleman, Deepak said, “His only brother is the father of my daughter’s father.” How is
the gentleman related to Deepak ?
a) Grandfather b) Father ¢) Brother-in-law d) Uncle
U A U T B SR SR A §U gy, ggepT Shaidl 4TS A 4 & firer oo e & 1 it bt
U & Fr gy o o
a) GreTSil DREG c) Sl d) 3ibd

86.  Kunal walks 10 kilometres towards Norih, From there, he walks 6 kilometres towards South. Then, he
:;Irllctsf kilometres towards East. How far and in which direction is he with reference to his starting
a) 5 km West b) 5km North-Eagt ¢) 7km East d) 7 km West
PONE I DI SR 10 Foeifies aore ) et 4 e afewn 91 3R 6 Roeiietes e 1 e, 98 qd 1
SR 3 fopefieieR aer 2 orgy SR fig 35 i 7196 e aX O e R & » :
a) 5kmUfdy b) 5 kun SRR o Tkm T4 d) 7km gy

e J ot ] oy r
87. If "+ "means '+, '~ meang 1 oo ' % means '—'and '+ means ‘X, then ;

, Phalke award for the year 2020 2

ol '+ P o o L 1 o = 9N srad % gl
(36 x4)—-8x4 .
4+8x2+16+1  °



B, C, D and E called the Problem figureg

88. The following question consists of five _marked As ;

followed by four other figures mark{;:[:a[;lg}l;bb[21]_ and (d) Ca”ed'[h“? {“?SWCT Figures_ Select a figure
from amongst the Answer Figures Whicl{ wih cbﬂ”“ue the same series as established by the given
Problem Figures.
mﬁﬁaﬁQﬂﬁA,B.C.DﬁTEﬁfﬁama@ﬁmﬁa%mw HET 11 § 3R 9%
WWWW{H]- (b), (c].ﬁ'h'\‘(d)ﬁ:@a%'ﬁl%ﬁ P IEE’I?TG;% Iwa’r@%ﬁfﬁ@'@
a@%mwﬁaﬁﬁﬁwwmmﬁﬂwﬁwﬁ i |
Problem Figure / SH¥T 3THia Answer Figure / STR 3Hfd
= =—6$x=é=0§[><=ﬂ =0 S|=0S|* X==S50
oaslxodr ¢ sixTelwps [X*P"*“‘*S—Qx*
A B e D E (a) { b)_ (c) (d)

89.  There is a definite relationship between figures A and B '?St“hl"*h a similar relationship t{etween figures
C and D by selecting a suitable figure from the Answer S¢t that would replace the question mark (?) in
figure D.

B A 3R B & dtw T FfEd ddu 2 SR A2 & U UG TPH FT 99 B A5fi ¢ iR p
¥ St T T ey IR Y S 2 D B e IR () P caull
Problem Figure / A& 3 Answer Figure / 3T 31gfd
TV Al A A
Ko g 9 i
sty 5 Y 5 & )
AP wEg e ST w B ©

90. In the four figures marked (a), (b), (c), and (d), three are similar in a certain manner. However, one

figure is not like the other three. Choose the figure which is different from the rest.
IR B (a), (b), (0), IR (d) T, T T Rifdiq % & YAH 81 BITifh, T SMpft 37 i 1 Xe
T 21 39 3pia BT 9 Hiferd Sl A9 F A B
L L ® L & el e je
[l L) ®
L .L - ® . A * L ] L ]
(a) (b) (c) (d)
91. Identify the relationship between the two words, and then from the given options, select one which has
the same relationship as of the given two words.
Snake : Reptile : :
a) snake : cobra b) bird : mammal A Wasp : insect d) lion : amphibian
3 =] & ot Hele Uga, 3R R fRrg T fad el & weh 1wy o, Fomd for v <) =il & 9
HaU g |
?Tm.:'ﬂ'ﬂ'ﬁ'q{Reptile) s
a) Y ; BISRT by Ueh . WU o) qdur. @ d) - : IHTER (amphibian)

92.  If water is called milk, milk is called bread, bread is called butter, butter is called sky, sky is called
yellow, which of the following a baker bakes ?

a) bread b) butter - ) milk d) water
) Giet T o1, ) P e 3 @ P, 39 Iehlltbakes) & 2
a) S8 B icichl 9
93. ‘BE’is related to ‘GJ’, in the same way a5 ‘_PS 1S related to -

BE G Al 3, SEaRg o ps WA

' UX b) UY 90z

e e Iy
Hindi Set-D

P-|




94.  Find the odd one out ¢) Mosau:
: : viosquito d) Butterfly
a) Housefly %Sp:der
f%mu:mw ST | ! ) HwR d) faeeh
95. EI,:}crw three words “pa.renrt;.] mother and father” 11t 100 One of the Venn diagrams (a), (b), (c), & (d).
CRGIE ooy &rf‘umaﬁ arar iR fadr & (Venn) STRE (a), (b), (c), R () H Y wp A e B0 3 |
X
ABDLY o
a) ) c) d)
v inerences by 40 paise €VETy year, while the price of o TS
P Jity X increases by 40 Pal" ’ _ price of commodity Y increases
i g_‘i‘el Er;;?sgtewzr::ny(:‘(a:tylfin the 2014, the pric® OE L(zhmmodlt}’ X was X 4.20 and that of Y was ¥ 6.30,
in w}:ich year commodity X will cost 40 paise mOre than the commodity Y ?
aﬂxﬁmﬁﬁqmma@ﬁq@aﬁ%ﬂ;ﬁ?aﬁymﬁaﬁmﬂam 15 R A 2 R
o et 2014 8, T X ) P 2 4.20 ot Y PP 2 6.30 o, i oy e e x o g v
40 O 31w grht 2
a) 2023 b) 2024 c) 2025 d) 2026
97.  Water boils at 212°F or 100°C and melts at 32°F Or 0°C. If the temperature of a particular day is 35°C, it
is equivalent to (in °F) :
TRt 2129F AT 100°C TR Il & 3R 32°F A1 0°C TR iy 21 af foveht famdim = &1 aomm 3sec 8,
ATE CFH) I TR T :
a) 85° b) 90° ¢) 95° d) 99°
98. Company C sells a line of 25 products with an average retail price of ¥ 1200. If none of these products
sells for less than ¥ 420 and exactly 10 of the products sell for less than I 1000, then what is the greatest
possible selling price of the most expensive product ?
P C 2 1200 F R a1 e S WY 25 Ial ) U Uid ST §1 A 37 AP o I
;420%@13:@%? 3R B 10 IATE 2 1000 ¥ HH F =7 ¢, 0 Fo AT IS D1 3HfUHaH
Y4 9! SIHd A1 8 2
a) T 2600 b) T 3900 ¢) T 7800 d) T 11800
99. A man bought some eggs, of which 10% are rotten. He gives 80% of the remainder to his neighbours.
Now he is left out with 36 eggs. How many eggs he bought ?
%ﬁi%%&%@ﬂ%ﬁ?‘g% 10% T §U &1 98 ST BT 80% S0 TSR 1 <l ¢ | 379 I
a) 40 ‘ b) 100 ¢) 200 d) 72
100. i ﬁle:r: :llg(.), lt(l)le&a}:w of the ages of Kunal and Rayi was 6 : 5. Four years hence, the ratio of their ages
aﬁm : 10. 3;;18 Ravi’s age (in years) at present 7
6 , P 3R 3 B a4 a7 | L q11 : 10BRT
U 6 - FR Yy a1, T TSI 11 : 10 1T |
mﬂ?ﬁaﬂaﬂgﬁﬁfﬁ)m{%q 6.5l )
a) 16 b) 18 ¢) 20 d) 22
101.  An alloy of gold i 3 / ey : o
to the 31};0}' Sgo th;n:;::l:r?:ag: logft'1 goslg g It contains 80% gold. How much gold(in gm) should be added
. IS Increased to 90 ? _
Y O ] 1 0 (RO 1 7 50 3 gy 3 g 8096 S e @1 g 3 Rt e o
) frretrar ST <R A T, 37 g _ _
SGHY 90 B oe ?
a) 30 40 :
| Ambal ) 8 -
102. A train leaves Ambala at 6:0( o Anic rai ] i at 8:00 2
and reaches Ambala at 11:3( . A reaches Defpi at 10:00 mAnmhcrtram lcaia?ves S o
20 8m. At What time o ghe two trains cross each other 2
P-1 Page - 12



e o1 AT | AT 600 Fof Preberch g fereel UEE € | U 30 3 Faee @ warm .
ik vy otk odnlinisd f TS i ¥ SR bbb L
a) 9:00am b) 7:36 am / ¢) 8:56am d) 9: 56 am

Two taps A and B can fill a tank in 20 minuteg 4nd 30 MIDUES: respectively. An outlet pipe C can empty
the full tank in 15 minutes. A, B and C are opened alternatively, each for | minute. How long will tank

take to be filled (in minutes) ?
a1 9 A 3R B U ¢! ! HHL: 2(}mm_omﬂt’ﬁmm% | T 3TITTe U13Y € WX ¥ &y
s foFe A @l SR IS 21 A, Bdﬁqca‘[a%ﬁuﬁﬂﬁmwamaﬁ | e ¥ Riu

o AR | R B 1R B R g e (B ) 2
. T R e Ll FUSIL
104. In a partnership, A invests e-i of the capital for — of the time, B invests - of the capital for~3-01 time and

6 5 y e y & A
C. the rest of the capital for the whole time. Out of @ profit of T 4600, B’s share is :

TP RN, A, - o & forg ool &1 2 Frag el 8, B o0 @1 % wasfaqqr,ﬁm% -
m%aﬂvc,ﬁﬁtpﬁmq‘{mﬁfﬁuﬁaﬂm%l14600$muﬁﬁ3$1fgw%:
c) T960 d) T 1000

a) T 650 b) T 800 !
t while computer B takes 5 minutes. If computers A, B

105. Computer A takes 3 minutes to process an inpu _
and C can process an average of 14 inputs in one hour, how mary minutes does computer C alone take

to process one input ?
HY A T $TGC 31 T B 7 3 fire o7 e el @ Sl ?B,ﬁﬁsﬁﬂfﬂwm%l
PEIER A, B 3R C U 62 & 3INGa 14 e 51 WISd S U €, A HHCX C 3ohel T F9E Bl

qfe R A

TR &3 8 b e T aar g 2

a) 4 b) 6 ¢) 10 d) 12

Anu is 10 miles west of Rita. Ravi is 30 miles north of Rita. Anil is 20 miles east of Ravi, What is the
distance (in miles) from Anu to Anil ?

3, a1 ¥ 10 Mo um § 81 3, @ 30 Mo s A 21 offAer, MV 20 MA@ A 81 3 A S &t

e e 2
a) 10 b) 30 c) 30vVZ2 d) 10V/13

107. The simple interest on a certain sum of money after 10 years will be ¥ 600. If the principal is trebled
after 5 years, what will be the total interest at the end of the tenth year ?

10 98T & aTe; 3t MR IR FTeRO) ST 2 600 BIM A Tefe 5 a9 & a8 P e war g, @
2gd a¥ & 3id H P sl fba1 grm 2 T
a) 600 b) T 900 ¢) T1200 d) T 1500

108. A father left a will of X 16400 for his two sons aged 17 and 18 years. They must get equal amounts
when they are 20 years of age, at 5% compound interest. Find the present share of the younger son.

Ue fa A 17 3R 18 a6 Y 31 3 T & YAl D 1 2 16400 Y n
kil G i kbl R D T

103.

a) 105 b) 120

106.

a) T 8000 b) T 8200 ¢) I 8400 d) T 8800

109. If the length of a rectangle is halved, while its breadth is tripled. What is the percentage change in its
area ?7
a) 25% increase b) 50% increase €) 50% decrease d) 75% decrease

ofe et aime & TS el R <l W, WP IVH! Aars g _
R ' TN 0| S5 Savpar  fpa ]
a) 25% B 3 b) 50% @1 9% ©) 30% i ek d) 75% By HH i

‘_ .




2 - 3. The length, breadth and height of the

110. The len
: gth, breadth 4 dareint o0]:
nd height of a cuboid are in the ratio 1 : 2y times the increase in the

Cuboi : : :
?md are increased by 100%, 200% and 200% respectively. Then how m
volume of the cuboid is -

U T ) warg, erd ik S o 1:2:3%1W3ﬂﬂﬁﬁ.mmmﬁm:
100%, 200% 3R 200% #1 IfZ B ¢, ?ﬁmé? ST & fopereh 7T fe B 2

a) 5 b) 6 &) 12 d) 17
111, Which of the following Media belongs to ‘Contrived Experiences’ as per Dale Edgar’s Cone fJf Learning ?
_-2Y Pictures b) Models ¢) Demonstrations d) Audio Recofdmgs
351 SR B BN 5 AT 3 ompaR FERIEE 3§ § B o AW S ST (Contrived
Experiences) 9 Hafed % ?
a) o b) HiSd ¢) WexH 4y e RepitsT
)

112. Which one of the following is required for a good communication by a teacher in the class room ?

larity of thought ¢) Speaking in a mild tone
7 Dramatic Presentation d) Speaking without pause

a1 B U eI b o HaR & fore Faffed J § fwet JTagehdl B 8 2
a) FER &Y suFa b) AEHT T o) B TR AT d) [SEE S

113. Students’ performance can by enhanced when they learn by: \_,dj/

a) seeing b) listening C) imagining doing by hand

ST % TS P 9 T o Fehel & e 3 FEfied & R R €

a) TEHS b) G XD ¢) AT B Oy Y HID (doing)
114. A scoring guide used to evaluate the quality of students’ performance is known as :

a) rubrics ‘ b) checklists ¢) inventories A ratin g scales

mﬁ%m&hﬁgﬂwmngﬁmaﬂﬁ%mmaﬁaﬁaﬁﬁmmﬁaﬁﬁ%:

a) s b) ST el ¢) T d) Y& whew

115. Using ‘realia’ in the language class means bringing :

\@)/(éql life situation to communicate \"

real objects as teaching aids

realistic objectives and targets for the learners
&nfomﬁng parents about real level of child’s learning

T a7 & R (realia) ST U S HT 3 2 -

a) HaTE S & fow arafas e &t Rufa

b) FRrgror g & U A arafa® awgl

c) mm%mwmaﬁ?a&q

d) HIeT-Fe ! 9 & WhE & afes &R % a8 9fd B

116. Which of the following is the better item of essay type question ?
g) Discuss F orce;( ¢) What do you know about Force ?
) Explain the concept of force with one exmpl?( \_}H"Write a note on Force.
m%?mmmﬂ%ﬁ%ggﬁm 3
s sl ¢) ¥ B SR H Y T T ?
| SAYRUT SR GR ey @iy d) S UR G Al (e
117. Continuous compre.hcnsive evaluation i -
&) continuous testing :
b) end term evaluation

el TP Hedih § ;

a) faaR g
ifoym Sfaftl BT gy o) e 3 an Rl 1 e
b) ¥fie Y ,.?. atenal @1 SafS s

¢) assessment of learners while learning
d) periodic conduct of exams



[18. As a teacher in the classroom
: : : » You hay, ' - ne student has s :
associated with : € notjced that On¢ * § some reading disorder, Jt ig

a) D}rsgra hiz "- b} D}'b Taxia \/ i
a - pnia ' P Dysl_c.\lia ‘:U\ D_Vscaiculia
’ . 2

o) fesmalie! b R ) R -

119. During teaching, a teacher’s statements ¢ :
: tha . students to elaborate o : :
own or that of others is called : t encouragt n an answer, either their

s e -y Engagement in learning process
b) Instructional variety %) Structuring

ggm@ﬁw$w@waﬁmmm$m@mm$mmm
o AT o dred A ofF A e
b) HTGRIHD fafder@n (Instructional variety)  d) ST

120. Out of the teaching approaches listed below, identify the individualized approaches :

(i) Demonstration mc;hod i) Personalized teaching (v) Collaborative method
i) Programmed learning (iv) Modular approach based teaching
) et Riegor SURTH # | SAfErTd IURTH o TEd Y -
() weeH fafd (i) SfeRPT e (v) FeaTEe Al
(i) PHTCIRIT fRI&ur (iv) TSR e smerid fueor

A @, @), oo G, i, ) O GG, O ) @60, 0K

121. A teacher uses a lot of positive and negative examples in his presentation in the class. This is related to
which level teaching :

a) Memory level w)/Reﬂective level
b) Autonomous development level d) Understanding level

Us e Hegm o aﬁuﬁ%ﬁaﬁﬁmmwmﬂmmm%mﬁm
a) WA &R b) WO RPEER o) R TR d) I ER
122. Which of the following are called behavioural rather than “attitude and belief” related competencies for

becoming an effective teacher ?

(i) Communicating 4if) Managing & monitoring (V) Evaluating and feedback

(i) Locus of control (iv) Teacher enthusiasm
s nyd e 999 % fore FAafafad 79 frd =TT o farame J Heiferd gaaTai & Suid SHdER
RIS ?

() SR I (iif) a3 TR (v) T IR g
(i) T¥d=T T RIH (iv) TRiar ST Ly
) (), i, GiK b) (i @, WA+ V0., ) d) (if), (i), )
123. The ability to use learnt material in a newW situation by a student to solve the problem is called :
2) knowledge __py application ) analysis d) synthesis

i e ORI e 1 e ) a8 4 T €
E)ﬁ%ﬂm AR b) SATAET o) fasmor ) TR



fy those questions Which are calleq process rather than content based
st given below, identt

124. Out of the lis |
'-2 questions ? . Fact based questions

(vy open questions
(i) convergent questions ,.t":'] concept Pased questions

_ (v} closed Questions
(i) divergent quuestmns.aﬁ - ﬁ}r%ﬁmaﬁj el aﬂmﬁaqg[mm%?
SR g A ST (iii) e IR (v) Ha Uy

i) e (iv) e SR gy (vi) S Uy

(ii) STgASC HH

by G, &K D ey g (). (i) & Giix
a) (ii), (iv) & (V)

& ¢ i +hi Skill.‘
ing is/ar rclatcd with teaching : |
125. The following 1s/arc : ae F

a) Black-board writing \jJ/All of these
b) Asking questions

ma?%mﬁﬁ?gfﬁ o) PUTH ol vy o oRea o) dnd
a) &

126. RFID stands for :

a topic in classroom

.ncy Identification ©) Radio Frequency Information
/;—)T gzzgz:: E:gzzgg In?onnation ﬁQ Radio Frequency Identification
HR.TP. TS E1( RFID) T 314 3 :
a) TSP SR UgaH c) XSa smgfr g
b) Trefase SMTgfy & d) &t gy wgwH
127. Firewall examines each that are entering or leaving the internal network.
_2] connections b) data packets ¢) emails users d) updates
BERG U P S{E BT ¢ ol AR Fead J IR PR & T DS @ B
a) I b) Sclldde ¢) UG IUANSAl  d) U

128. Which of the following term is used for creating web pages ?

9 U9 3T & forg PR # @ v e a1 o s o 8 2
a) FTP 7 HTML c¢) HTTP d) URL

129. Which of the following is an address that specifies the location of a web page ?

RS & 8§ 1 91 e & it 3 Ot 5wy oy RS e 29
& URL b) DNS ¢) HTML d) HTTP

-’? 130. For displaying hyperlink fields in a word document in Microsoft Word, you can press :
ARSI 38 % ¢ STale ¥ Fruehiey uivee el 33 3 RIG, S0 T WHA L
a) Curl + Shift + F9 key b) Cirl + Al key ¢) Shift+F9 d) None of these
?13 L.~ Which of the following keys are used 1o increase left indent in Microsoft Word ? |
a) Ctrl +1 b) Ctrl+ o) Alt+1 AF10 :
i Micr'gs'oﬂ Foerpont,theshortoy, key to insert a new slide between the current presentation is :
Wmﬁmm%%W%mWﬁWﬁw) g:
_#Cul+N b) Curl+ g o) Cl+M d) Crl+0O
133. Which of the following function ;

" Microsoft pycel tells about number of numeric entries ?
Hﬁﬁﬂfﬂﬂ@aﬁﬁaﬁﬁaﬁﬁﬁqm e e TGl @) 8 ® R A S § 2
= ﬁ NUM() b) COEiN e p o  TTEEATETR &4 %



134. In Microsoft Excel, multiple caleulationg can be made in @ single formula using :
e

a) Standard Formulas —b) Array Formyj, oy Complex Formulas d) Smart Formuylg
T Qe 7, BRI ST i g % O P19 SPAI g |
a) AP b) &R o dfed dy T

135. Which key can be used to view Slide show 2
W@ﬁ‘@ﬁ%ﬁﬂﬁméﬁﬁ(my)mwﬁmmm% ?
a) F5 b) F2 : d) F9
o B I H i
.?36, Which function will be used to enter current time in a worksheet cell 2

i e B BEE TR UeR B b Ry Ryt 1 SRIHIC (e SITQTT 2

a) =currentTime() b) =time() s —now() _Hr=clock
137. Junk e-mail is also called :
_a¥ Spam b) Spoof ¢) Trash d) Spool
sEidad eI
a) WH b) WH ¢) PRI d) W&
138. Which term identifies a specific computer on the web and the main page of the entire website ?
a) URL b) Web site address  ¢) Hyperlink 4 Domain name
ﬁqwmaawwﬁﬁmmammmasg@qgaﬂwm% 9
a) URL b) IWHREHIGA ) TRIRCAD d) S AM
939. What does the Function key, F12 do when you are using MS Office ?
j a) Open 'Save As' Dialog Box ¢) Displays 'Save' Dialog Box
b) Shows 'Open’ Dialog Box d) Opens 'Font' Dialog Box
T 3T THTE SRPE(MS Office) BT UGN HX T2 Bl dl Ha—H P, F12 FHAN ¢ ?
+) 9 U9 ST siad @ @ o) Tow da s siaw feard @
b) S ST s fard © d) BT SN siew @ed! &
140. Which among the following is the incorrect E-mail address ?
Profifad § A eH 9 Taa AT UdI & ?
- shook.kr@gmail.com &y kamalkr@yahoo.com
@est@soluﬁon.ec{u Y www.gurprem.com
Q 141, 7 ffinr e forgr ar e & FpyerER o 3
&) I & gt _b) wg=E o) argh d) ez
9 142. feawt fes faas mae W' walsd o HEfS 39! -
: _a) WAfIH T wRITaH c) nafa d) nes
143, ‘wer wee fon 7S a® HEfs 3
a) I TWI &', b) foATEa &< Uf)”‘ga*ﬁagam ﬂenawam'

144, ﬁum&awwmaﬁwﬁlwﬁ?‘ﬁ?ﬂﬁmﬁwm%?
oY Teuert uzste p) AR RS O ioNedugse  d) fore uge

a}tmfaifanrmzar,ﬂuﬁvmfaﬁw ﬁﬁwmm+mw
b) 1 fafiamy + gt Araves fafon d) o ffne + Frowa ot
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Join Telegram Group "HaryanadJobs.in"

Recruitment Test for the Post of JBT
(Samagra Shiksha, UT, Chandigarh)

Date of Written Test : 10-12-2022

Provisional Answer Key - Set D

Q. Answer Q. Answer | Q. Answer | Q. Answer | Q. Answer
No. No. No. No. No.

1. D 31. D 61. C 91. C 121. D
2. D 32. C 62. D 92. C 122. C
3. B 33. A 63. D 93. A 123. B
4. A 34. A 64. D 94, B 124. A
5. D 35. C 65. A 95. B 125. D
6. D 36. B 66. C 96. B 126. D
7. C 37. B 67. A 97. C 127. B
8. B 38. B 68. B 98. D 128. B
9. A 39. D 69. D 99. C 129. A
10. C 40. B 70. B 100. A 130. D
11. A 41. C 71. D 101. C 131. B
12. D 42. D 72. C 102. C 132. C
13. A 43. D 73. B 103. D 133. B
14. B 44. D 74. A 104. B 134. B
15. B 45. A 75. B 105. B 135. A
16. D 46. C 76. C 106. C 136. C
17. C 47. C 77. C 107. C 137. A
18. A 48. A 78. A 108. A 138. A
19. D 49. B 79. A 1009. B 139. A
20. B 50. D 80. C 110. D 140. D
21. D 51. B 81. B 111. B 141. A
22. B 52. D 82. B 112. A 142. B
23. A 53. D 83. B 113. D 143. C
24. B 54. C 84. B 114. A 144. B
25. C 55. C 85. D 115. B 145. A
26. B 56. C 86. B 116. B 146. C
27. D 57. B 87. A 117. C 147. B
28. A 58. C 88. B 118. C 148. C
29. C 59. C 89. B 119. A 149. B
30. D 60. D 90. C 120. B 150. A
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